Tuesday 19t May

Talking Together
Spot the mistake.

The very busy spider caught
7 flies.
Then she ate 3.
Now she has 3 left.

Is she correct?

The very busy spider caught
6 flies.
Then she ate 2.
Now she has 2 left.

Is she correct?

The very busy spider caught
8 flies.
Then she ate 4.
Now she has O left.

Is she correct?



i The very busy spider caught
' 1O flies.

Then she ate S.
Now she has 6 left.

T Is she correct?

Can you make up your own
spider stories to show the
spider how to tell them
correctly? Challenge your

grown ups. Could you extend
this to 2 webs?



